Circuit - Writing and Interpreting Riemann Sums Name

Directions: Beginning in the first cell marked #1, find the requested information. To advance in the circuit, hunt for your
answer and mark that cell #2. Continue working in this manner until you complete the circuit. For all the following problems

use a right hand Riemann sum with equal partitions.
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Find an integral expression equal to:
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Find a limit equal to the area shown.
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y=sin (2x)
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Find a limit equal toJ cos(2x) dx.
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Find a limit equal tof Vix — 3dx.
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Find a limit equal to the area shown.
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Find an integral expression equal to:
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Find an integral expression equal to:
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5
Ans:
f Vx 4+ 1dx
3

Find an integral expression equal to:
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- Ans:f(x2 + 3)dx
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Find an integral expression equal to:
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Ans:f [x2 +1dx —_— AnS:f(x?’ + 3) dx
3 0
5 Find a limit equal to the area shown.
Find a limit equal tof In(2x — 1) dx. Y —
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